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A canstant voltage of 25V is applied to & series L=} eireuit at £ = 0, by elosing
a switch, What is the potential dimmmmﬂmm&m and the inductor
at time f =0 7

L-R @ Soutnd8 t =055 Wiy Swbddes eoge 25V 56 5¢En
sHaE8Se Dhovti. ¢ =0 Doo B8 06%Ge STde &gy Sbek (edo
ge by PRISS S dcBod dowmod?

(13 _t’f;'_r"if-. 25V {2y 125V, 125V

@ 10V, 15V ) V.0V

The sensitivity of & galvanometer is 80 d&mm#ﬁmp. ﬁhﬁn»ﬂ'shum; 1 used,
its sensitivity becomes 10 divisions/Amp, If the galvanometer is of resistunes
20 2, the value of shunt used is ;

w9 mregmiel Eel Sy (maeps 60 Berrerselail, of So8 e o m
FREDE, ol Segerdrps 10 Sgrorerachat sgBon, e et U0
200 o B, eEEsio08 Zof BEfSo B :
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§1. Two photons of energy 2.5 €V and 8.5 éV fall on a metal surface of work function
1.5 eV The ratio of the maximum velocities of the photoelectrons emitted from
the metal surface is |
25 eV 5000 3.5 8V 48756 Tom Freek 158V 80 (Fhevotls SoSEed
SEzo S6688. CFrEecn Lo8 Judd Tob scogde 50D Jeew D50
(I 1:4 @ 2:1 o
@ 1:2 W 1:43

] 82. Caleulate the wavelenigth of the k, line for = 31 when @ = 5 x 10" Ho" for
a characteristic X-ray spectrum.
‘. 2 =31 a="5x10° Hz'® sond uf eboge X-8¢a Sg5wed*l k, By Suly
SsoKEmaR Adesol.
1 {1-33-:1& (2) 133 nm
@ 133 x 07 m (4) 133 nm

83, 1200 MeV of energy i released in the fission of one nucleus of %HU, theroumet
of nuclei that must undergo fission to release an energy of 1000 J is :
| sd YU dog¥o B Toosps Icsedhy ¥4 200 MeV woxd 1000 J
: 45 smsedanes o0y Jogwe INEE SCHwsem?
: (1 3125 x 10" @ 62 x 10"
@ 126 x 107 @) 3.125 x 10"
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B4. lnapw junction diode the thickness of depletion layer is 2 x 10™® m and barrier
potential is 03 V. Tlm intensity of the electric field at the junction is :
(1) ;06 x 10° V™ from n to P side
I‘Hf 0.6 x 1078 ¥ 1 from P to n side
3 15x 10° ‘!i'fm ! from n to P side
(4) 15 x 10° V™ from P ts n side
wEP-n ol SGirE Bl 205 fiose 2x W mssae wxety FRDEE0IV e
S50, wony Sel ;&s T8 AiS B8
(1 06 x 10° Vvm 5 s p %
(2) BﬁxlﬁavmleuﬁﬂﬂM
@ 15 x 10" Vm ' n fed P IR
4y 15 x 108 Vm? F;ﬁm&naa’aﬂf

85. The dimensional formuly nl’ =S poﬂa (g — P&nmahlhty of Er&a spave and
Fll—magmuc field intensity) is :
r.ruHE Eady. 8 demEsn (g - T (S8% (@aYytos H‘ﬁtﬁla‘lﬁ.ﬁl-ﬁ HiE

é (S o -
1y mLr? @ ML
@ ML (43~ ML2T!

B6. A certain vector in the xy plane has an x component of 4 mand -8 v component
of 10'm. It is then rotated in the xy plane so that its x-component is doubled.
Then its new v component is (approximately) -
) 20 m @ 72 m
3 50 m 4 45 m
¥ Feludd of Sar Rl roeo¥di 4 &, y woiss 10 5 SO0 r movas
E‘ﬂqﬁ; uo:?#gmm xy Sodn€® wlhiae INE @D 558 y wosan

lm#éarﬂ

M 20 & @) 78 &

@) 60 & (4) 45 dn
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A police party is moving in a jeep at a constant speed v, They saw a thief at
a distanee x ot a motoreyele which is at rest. The moment the police gaw the
thief, the thief started at constant acceleration e Which of the following relations
is true il the police is able to cateh the thiel 7

w8 H5E® 0 SRTHEE® SPommy Thoe x GroamE® SHo BTG
drett PE6D Sy oF GES Geebh Plhw el Soud Son
o SSEBEnEt SeBtee Bt 6 ot SWTATEwE 308 Souagrub®
d8 seanss ? - '

(1 o* < ax 2 1% < %ar

(3 ¥ > Zox 4) 1 =

A 1N pendulum bob is held at an angle U from the vertical by a 2 N horizontal
force F as shown in the figure. The tension in the string supporting the pendulum
bob (in Newtons) is

£8 1N E%osg (o, 2N Sedte F of 48k S8vosd wuss oo
DedpSosnd” 0 Fndn Jdhdey (Saded® Tebie) @ofulys. 6ol
467 fie 8338 (Srgasd”)

(1) cos 0 (2)
@ g @ 1
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88, The maximum tension a rope can withstand is 60 kg wt. The ratio of maximum
accoleration with which two buys of masses 20 kg and 30 kg can limb up the
rope 4t the same time iz :

LR o ROS Sdgs 60 kg wi. 20 ke &S00 30 ky (Bt
AE GER everts GBI o JdE BPRGE, S0 G0 Sawee Lipd:
0y 71 08 @ 211
ﬂi‘i. 4:3 ; 4y 3 :2

8. A ball is let fall from a -hgig_ht fg. It makes n mlﬁﬁim with the earth. After
" eollisions it rebounds with a velocity ‘v, and the ball rises tn 2 height i,
then coefficient of restitution is given by :

4 Ry gy, Sed ef wol BoStdfe JIAabSs. ed ErDE n wlimerw
Qe N sharere sGad Jnsn 9, 8 w8 18 o8 Sddh = wod
g" By S8i8 JAOFS® (SevpSeBs Ansss
.., . ﬁ)q_ Lfgm '-ﬁ"]ﬂﬁ
(1) 35[&“] (2) E:.-[#‘I] ‘

1 Ry _1fls
'J- id] $_HJ_#}.

91.  Acircular discof radins ‘R'is removed from s bigger sircular disc of radius ‘2R such
| that the circumferences of the discs touch. The centre of mass of the new diseisat a
distance ‘aR’ from the centre of the bigger dise, The value of 'w’is .

I . L .
pe——— - ———a =
&
b
I
= |
&

i R oggas de uf Syemss By 2R p>cds o w8 35 U wod
1 0 S8sies erRles Braficliov = BE 'Eﬂ@ﬁ’m sl E“& B e
-;I Byt Godsn tivdo aR' soas W Ve ;

o =
i M 3 @ 3
| 1 5 3

@ o @ 5
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A uniform chain of length L is lying on the horizontal table. If the coefficient
of friction between the chain and the table top is 1, what is the maximum length
of the chain that can hang over the edge of the table without disturbing the
rest of the chain on ihe table 7

L&ag tio o QobE Son f8e s8rods wed Sigs. uib @bk
BED grhsse &gy Pl fomdss v Lo, sed e WADY e
B0 Srgiies. by s Mwd Fodsels Fes 408 ey Ses?

L ok
LT R

. L L
(3 (1—p) 4) (1 — )

Twao uniforms circular discs having the same mass and the same thickness but
different radii are made from different materials. The dise with the smaller
rotational inertia is

(1) the one made from the more dense muterial

(21 the ane made from the less dense material

(3  the disc with the larger angular velocity

(4} the dise with the larger torque

o | Lﬁﬁgmﬂ ed oS e Jom dyba Sjeems o a0% ﬁﬂ?ﬂ:b&"
Fo0eBID. =D 28 apPoiee 6 S5 maS wSSSs He Dix
1) esps FeoEs Heo SorBSus® dopedss

@) SyS Foss do sergses® Sabedss

@ ey F'dan Jnsw e B

(@] oEnd sow-Sifn (of) ov B
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A thin hallow sphere of mass ‘m'" is completely filled with & liquid of miass ‘m’,
When the sphere rolls with a veloeity v, kinetic energy af tho system is (neglect
frigtion) :

' SHped e el eIl e SRS S50 be SSdeE gedee
Pobulne. Fese 'y Suses® Sty w dgdE Ao= 1l (Stes; Sindone

Bl)

1
ay 3 e {2} :m,!g

d 2 e
(3 g My (4) 5 iy

Assertion (A) :  Ag astronaul inside & massive spacaship orbiting around the
parth will expericnes a fimite but small gravitational foree.
Reason (R) : The centripatal force necessary to keep the spacaship in arbit
around the earth is provided by the gravitational force between
the sarth and the spaceship.
(11 Both (A) and (R) are true and (R) is the correct explanation of (A)
2y Both (A) and (R) are true and (R) is not the correct explanation of (Al
{3 (A) i2 true but (R) is not troe
(41 A is not true but (R) s froe
pRyEss (A) 1 el e SOERpEG CUES Sesdy FEE fe Sgderrin
shaad 65}&,& mwglwﬁ ns:‘.'.‘a BHERE Joi.
wOads (R) : woddy T goedasuess Egpe” Modielh eJisSd e B
wameily,  greER Sl ﬂﬁﬁﬂg i éﬁ:{ig e m&.-m"aafb'
BUC RSB ed.
(1)  (A) Sbus (R) doar qﬁ-&@_ﬁﬁ (A} = (R) ;::{}r.wn.r aE8tm
(@) (A) bty (R) Bodr 20@ss (A) & (R} $66s Sdds #&
(3 LA) :‘é'ﬂ@-ﬁﬁ. z=u (R Eﬁﬂﬂi’é‘i&. =t
@) (A deauds wah. =0 (R wmigaas
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| 96. A simple harmonic oscillator consiste of a particle of mass ‘m’ and an ideal spring

with spring constant ‘", The particle vscillates with & time period “T". The spring
is cut into two equal parts. If one part oscillates with the same particle, the time
period will be :

8 S0 Swazd Slofo I SSgoE e k¥ fudhd SO eoboerse
¥ EOhG b8 BEG (o DA S © Sod T ooy modus®
o TRes e Bpofhs Dol Sars priduor Shewd Lf wvtisn
©d Fedn8® Sfoover TU, SlorSdy oS

2T @ Jar

O X7 w 3

Two blocks of masses 1 kg .ami. Q-kg are connected by & metal wire
going over & smooth pulley. The breaking stress of metal is g x 10° Nm™,
What should be the minimum radius of wire wsed iF it should not break 7
(¢ = 10 ms™)

1 kg Sdots 2 kg (SSgortes o Do Sapw w8 S5y Bns® sesed,
5& ﬁ#&n’&# ﬁgﬁiﬂé’am B @ oy AdEE (BEnedn
g % 10° Nm™™ 8¢ @rfioos aossesyy B 508 ooy s0a?
@ = 10 ms™™

@ 0.5 mm (@ 1mm

3 1.5 mm # 2 mm

Rough Work
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8. If itwo soap bubbles of different radii are connected by a fube, then :
(1)  Air flows from bigger bubble to the smaller bubble till sizes become
equal |
(2) - Air flows from bigger bubble to the smaller bubble till sizes are inter-
f,.f’ changed
(31 Air flows from smaller bubble to bigger
(4}  There is no flow of air
Todi 33%:'5& mg!ﬁnww So Bod Hay O8 mato® Ly ﬁ"mﬁmﬁ“ gD5S:
1) o8 SBSmores wiweby JeH o0 s.uﬁ wdd Sol D&y wdEns
) S o
(2) m'&? e Py - TOVRIE LloWEva Tt 'H@gﬁ'ﬁ%& Rl i Tﬂtg B Ao Eﬁ‘ﬁa
gaddis Lﬁaﬁ:rﬂﬂﬁa&ﬁ
@3 o ﬂn‘.il @t el hﬁlﬁ pedils | S8rods
4] b Fordon aoEs
99. A large open tank has two holes in the wall. One is a square hole of side ‘L’

at a depth " from the top and the other is a circular hole of radius R at &
depth 4y’ from the top. When the tank is completely filled with water, the quantities:
of water flowing out per second from the two holes are the same. Then value’
of R id :

of 800 ody Bd 8¢ FER Tod Jogred SBoE A wsd i
ol Y S2a6® L Beds de SEOFTE Togd, JodSE Berts ol
"dy 056" R aﬂg&ﬁa,ﬁ} He ﬁgmanﬁ oig s, é’-"‘i’.;ﬁ sl ﬁ-ﬁ@ﬁ SeSnsha

Bods Gopgre ol BEREY \s8trod B8 ﬁﬂq“iﬂm‘nm Fregsh sad R

e

(1) bon 2)  2aL

| 2 o o

3 L - @ =
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A noncopducting body floats in a liquid at 20°C with % of its volume immersed

in the liquicl. When liquid temperature is increased to 100°C, 5 of bady's volume
1 immersed in the liquid. Then the coefficient of resl expansion of the liquid
ig (neglecting the expansion of container of the liguid) :

20°C 2208 56 el FHRE® wf o B B9 oD WEStreme®

2
7 Sedk SLARES. @8 ealPdEs 100°C & Helid e SGd. o

Sdbsrmand® % Fods E&DOEE. Soen Ssfp U opftd msas,
(Bsse ag E wi opFton sdndese d8 -
1 156 = 107~ ¢! 2) 156 x 107%¢!

@ 156 x 107! (4) 0156 x 10%c

An insulated cylindrical vessel filled with an insulated piston of negligible weight
and negligible thickness at the mid point of the vessel. The cylinder contains
a gas at 0°C. When the gas is heated to 100°C, the piston moves through a
length of 5 em. Length of the eylindrical vessel in cm is :

o8 afwedd drdrrd IMSctoth S6rdedEl wrods oo Sondo@n
SosEute af DoPY SsEo¥Sy w ME Sgp Hotkd 65 BiugRAse.
& Srdde 0°C S5 sokdHh 500 s SugS 100°C = dadusam
susedss 5 Do.ds PO JOOIE Beivwd @ TAD (Do.diwsh)
1) 1385 @ 273

@ 886 4) 646
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@y 95°C, 371°C 141 90°C, 37°C
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A reversible engine converts one-sixth of the heat supplied into work. m‘hm the
temperature of the sink is reduced by 62°C, the efficiency of the engm&ﬁdmhhd
The temperatures of the spurce and sink are

peeds aXsSw€® V6 Josm u¥ a6 Sdab GHose SR e
pnE ﬁi‘l‘ﬂfﬂo‘ﬁﬁm ﬁﬁaﬁﬁi}ﬁ: choddn Sl S58 Mﬁérﬁiﬁh LTS
Hbas Ba aﬁ‘ﬁm I

(. ‘99°C, AT°C {2y 80°e, 37°C

—iT

103,

During an adiabatic process, the pressure of a gas is prdpomaml ﬁrmmﬂ
of its temperature. The value of C /€, for that gas is -
] m‘.’r"‘ai (FHBahSoth, ©F o hkzc ooR HE& *ﬁgﬂﬁ‘ U e

n...a*sﬁma-aw A s o SEPIR Ep)’ﬂ, Dewd :
i3 12)

(3 (4)

celen eni=
) e | e

_‘__-

1044,

Two slabs A and B ei’ different materials but of the same thlnhnmqlue;idn&d
end to end to form a composite slab. The thermal conductivities of &sh:pﬂ B are
'k, and %y, respectively. A steady temperature difforence of 12'@&1:%&&1

across the composite slab, If &y = %;_the temperature dumw alib
A

oy dSocoel Jdheld v Susss fe Tod am,;mammﬁ
Soasag, mﬁé ebdese 5SS 55 FedeBES A, B o@SHE AT
Sthare ', dubasn hy & Soaky Sdpks foysm 12°C aﬁ!@m B
swad@udss, k= £ sond A Gde 35 odfre B

1 4%C (2) &C

@) 8C W 10°¢C

Rough Work
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106. The wavelengths of two sound notes in air are %m and %m Each note

produces 9 beats per second separately with a third note of fixed frequency. The
velocity of sound in air in m/s is ¢
PB6® Btk Gan = L

odh el Huoves 105 m bk 195 ™ ﬁﬂuﬁﬁmg@m SOR eogom
B8 Myde, S0 SPERdge e &8 SPES Sr0es® HELN Y ot

Syuded oBET &0 dHas (Lirmedty:

L
) 360 B 320
3 300 4) 340

Twa uniform stretched strings A and B, made of steel, are vibrating under the

same tension. If the first overtone of A is equal to the second overtone of B and

if the radius of A is twice that of B, the ratio of the lengths of the strings is :
o Bugus’ FrBorudd A oy Beil oud 2558 adn s soradaeds

&rjes Sobiyonyan. A erpeEEs, B argReoeiid Sod Dap. A Gut), 300 obizs

B &8, Todd w8 ol SSeidauc aoh, s Tud Sne Brdae I8
M 2:8 2) 1:2
@ 1:3 4 1:4
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The focal length of a lens of dispersive power 0.45 which ghould be placed in
contact with 4 eonvex lens of focal length B4 em and dispersive power 0.21 to
make the schromatic combination from the two |enses. In cm 4s

0,45 Sfdem Fgge te dusq, B4 Todne oggeste ook 0.21 FFE=
eSidge e Dogrms Hufod® b e Eets, w Jo& Seoes LE
©SEy soRrnerr So9ERNeh, SewlE acdleld et dwmd
{'Eq.:n.ﬂﬁ;‘} .

(1) 45 (2) 40

@ 180 @ -180

Which of the following statements are true in the context of & Compound
Microscope 7

{A) BEach lens produces a virtual and inverted image

(B] The objective has a very short focal length

(C) The eyepiece is used as a simple magnifying glass

(D) The objective and eyepiece are convex and concaye lenses respoctively
(1) (A}, (B) and (D) (2) (B) and (C)

(3} (A), (C) and (D) () (B) and (D)

Nosiey HeEQE0 Hesondl S (e IS b5 ‘ohorgan’?
(A) eF°yt, Foss, S0fcSES ey EaDoorly SUpEELE

(B) &5 #bwtl =8 o) orggodde aveed

(€) of sosly w¥ sy sSgs FOheT rrerr  PEEm

D) S5, sifvran JOSoe Seetwd, QaTd soww

1) (A), (B) Sibuis (D) (2) (B} &bt (C)

@ (A (0) Ssah (D) (4) (B &Buts (D)
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109. A ray of light refracts from medium 1 into a thin layer of medium 2, crosses
the Jayer and is incident at the critical angle on the interface between the medium
2 and 3 as shown in the figure, If the angle of incidence of ray is 8, the value

of 8 is :

w8 o8 0mo Arddo 1 SHow oERdo 2 Swsy Sl et Nl Sidysso
To8Y Hugd AN o oPeifo 2 HOak windNe 3 v &y du wodd
go¥on Hodll FPwo i “H#go Dohikos: wod diwe S8 5wo B

wond, A Dewsd

::.' P = l.ﬁ

By =18

Hy =13

L mj[‘g] | @ sm’*[%]

@ g @ e ()
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In the Young's double slit experiment, the resultant intensity at & point on the
screen is 76% of the maximum intensity of the hngi:.t ﬁ‘ih_gg_; "I’hért ‘the phase
difference between the two interfering rays at that peint is :

dheli sce SBE Hopetod”; 0% wf Dot SE PUB IS SBNds

S8 GuEy H0E BESE® THh 4GB, woud SpB¥TmS: emLsi Dos

ol Siodne Sy Se@Essy =0 Dodsy s8¢
!, .
{

(1) P

ENE

(3) 4}

woE A

=0 |

111

If & bar magnet of pole strength m and magnetic moment M is cut equally 5

times parallel to its axis and again 8 times pe ar to its axis, then the

pole strength and magnetic moment of each piece are respectivel
@edidoe m sohipmof wrdEss M He ScardbBposdy o0 sFnd
AroBdsnee B v Sedore, sEns sovern d G Saonss §U08

Hehd wET Sy sinosy Sug G |08 SELEN SEESH O |prasdus |

Sasien SE0e

-

(2)

&=
|3
gl=

5)s

(:3) 41

a8
SES
|8
2=
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112, Some physical quantities are given in the List | and the related units ave v

in the List I1. Mateh the corvect pairs in the lists -
List T List 11
(@) Magnetic feld intonsity e}  A-m

(B)  Mugnetic flux ¥ Wb m

fer  Magnetic pole strength ﬁ‘! Wh 5

) Magnetie induction ) Am
) Am©

R SN wriliods wbe [ 8°% @8 dowsdod (Bivaveds
prles I & gipoo obssd’ EE%& HOMUS eSSdTod

w=Dg= 1 =hae (1
@)  s@mox §i8 ﬁiﬁﬁ fek  A-m
&) wadpos sfageo W Whm?*
€] wSaod S S88ac g) Wh
W) weined Eam R Am
i Am?®

The correct match is ;
(a& E.‘.*fru'."':-ﬁ &8 )z .
(1Y fadde), (-G, tel-gd, Wit) (28 ad=th). (hy—g), e)—teo, L1

@), (Bt (-0, (@40 &) (), (Bt (e)Le), tel)th)

113,

A fully charged rapacitor has a capacitanee 'C’, It i discharged through a small
coil of resistancy wire, embedded in a block of specific heat 's* and mass 'm’ under
thermally isolated conditions. If the temperature of the block is raised by AT,
the potential diferenge V across the eapacitor initially is |

sodrdorr aSbgo 33 SHOLE RuE, ISNES ¢S50 SE s s&aa';azz.ﬁ*.
SIRe s Bagod wm'de w8 83360 Brafs BESGu g oWy I
Fuor adHdo ﬁ::rﬁ;.}ﬁ:- Bay aa:@-u AT 2&hE, 32066 e gy &8
Ay %Egﬁ@ aav, V Do

o [RresaTY [zm AT ]m:-

WHA [ C ] @ | c |
‘2 ms AT R

w (255 2 e 410
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Two identical condensers M and N are connected in series with a battery. The
space between the plates of M is completely filled with a dielectric medium of

dielectric constant 8 and & copper plate of thickness % is introdoced hstween
the plates of N. (¢ is the distance between the plates), Then potential differsnces
across M and N are, respectively, in the ratio :

Boks B HEs 3Debe M B0t N o o8 Heob® @ Sogde S,

M goaib So¥e Sigy Edeny oy fovuga 8 fe By Kot ey

d
Dobaets. N goamb Sege &Siag E Sofe Ko whH SeEdk @cloed.

(d ed8 Scfe Hgg Sros) wend, M N e £de 45 ﬁr‘ﬁ:ﬁaﬁﬁ Bavo
WEDE, SR

M/ 14 @ 4:1

© 3:8 @ 1:6

115,

The electric current [ in the circuit shown is :
ol Srhs Sodhod® JopEerdro § D&

LY I

(1)~ BA 2) 24
(31 3A (4) 44
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116, 1In the circuit shown below, the ammeter reading is zere, Then the value of the
resistance R is : _ -!
Bog wSrbhd Seoned® elnef Blerm Doy sond O0%s R Ded
:: 12V 2V

' . '*"‘II[F =it
{1ft 1]

—&)

SR =

"
. ———

0 500 ' @ 100 o |

117. The thermo e.m.f. of & hypothetical thermocouple varies with the temperature
0 of hot junction as E = af + b8 in velts, where the ratio a/b is T00°C. If the A
cold junction is kept at 0°C, then the neuiral temperature is : -

| @y 7o0°C

| (20 1400°C

(@ 880°C

(4)  no neutral temperature is possible for this thermocouple

B§ EENOLE anduio @uf of Idguned seo 38 Sod s

0.6° E=ab+ bo? (Feyedt)m drmiod. 554 B alb T00°C. 3ud Jod

AT ES 0 &8¢ Good, LU CE Lo

b (1) 700°C

(2) 1400°C

(3) 890°C

) ¥ azamogdd Sud #3058 sodwo Yge T

S —
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118, Match the following and find the ecorrect pairs :
List I List II
fal  Fleming's left hand rule (2] Direction of induced current
(b)  Right hand thumb rule (ff Magnitude and direction of magnetic
induetion
fey  Biot-Savart law (g} Direction of foree due to magnetic
induction
(d)  Fleming's right hand rule (h) Direction of magnetic lines due to current
go (fod e lered® 4HELE wsoso MBoded :
Eaalt i | eelioge I
(@ p2ef SwSE Twogs () (298 LmpS (daeds OF
(B ®A38 fogde Dducdd () el We S0EGo 0@y &Y
(€) o f'Ewﬁ_-ET Dosae @) sotdyod BEoede 5T wedd
() éé'umﬁ L4488 Duwodid  (h) 5}55135 [Waraodey 587 edhapod Jau -
=1
(1) (@)-(g), (hte), (ehdfy, (k) (21 (a¥elg), (DAY, lehdf), fed)-(e)

(3) (el (B)=Ah), (o) (di-le)  (4) (a)th), (b)), (e)-le), [di7)

Rough Work




f

ﬂ E 2011 D

119. A constant voltage of 25 V is applied to a series LR eircuit at ¢ = 0, by closing

a switch. What is the potential difference across the resistor and the inductor

at fime f = (0 ?

L-R B Soampd t=0 88 Wnbn Scbddes ogee 25V ba 5%en
oXE8So Ihaondh. t =0 oo 38 HEfGe BRXe Sy Sbae (Bes0
e gy uled do JeBol domed?

1) oW, 25V @) 1BEV, 125V

@ 10V, 18V @ BV.OYV

120. The sensitivity of & galvanometer is 60 divisions/Amp. When a shunt is used,

its sensitivity becomes 10 divisions/Amp. If the galvanometer is of resistance
20 @, the value of shunt used is :

o8 rogmiiel SwEy S maps 60 Recrrey/selail. o8 Sof BEon
FAsHE, ol %mﬁ*ﬁlﬂ Serrensotahh sg@mod mranciiath U6 S0

20 0 & ©wd oFEeAeRs %o NEfSe Twd :

a 4@ 'a-_f/s-n

(@) 20a 4 z20

_Ll—-—--
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PHYSICS

Two photons of energy 2.5 ¢V and 3.5 eV fall on a metal surface of work function
1.5 V. The ratio of the maximum velosities of the photoelectrons emitted from
the metal surface is

256V s 3.5 &V §85s Bom Dk 156V 60 |dotonis &fSEus
Sdde Debmd TEcdd Ho8 JwdE Tob Sogde S0a drre BB
M 14 @ 2:1

@ 1:2 W 1:48

Caleulate the wavm of the k, line for z = 31 when a = 5 x 107 Hﬁm for
‘a characteristic Xeray spectrum.

2=41a=5x% 107 B sond 08 sbofe X8k S55606°0 k, By Sut)y
-ﬁﬂ.oﬁ_@g*ﬁ_ Hdodold.

M 183 A (2) 133 nm

@ 183 % 107 4) 13% nm

of nuelei that must undergo fission to release an energy of 1000 J is :

a8 “RU Jopse SGE Scasas Nesucby ¥4 200 MeV sond 1000 J
i smoedabes ofy Jowwe IHBE SSSesvE?

(1) 3125 x 10" @ 5.25 = 10"

@ 125 % 107 (4} 3125 = 10™

—

Rough Work
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B4, 1o a pen junction diode the thickness of depletion laver is 2 x 10" m and barrier
potentinl is 0.3 V. The intensity of the electric field at the junetion is :
t‘lJ' 0.6 x lﬂ*ﬁ\?‘m from n to P side
@ 06 x 1078 Vio ! from P to 1 side
(8) 15 x 10° Vin ! from n to P side
(4) 15 x 10° Vin ™! from P to n side
LEPN Sof S&rS 8l 300 Siuse 2x 107 m 0wy wets P BDEEDIV m
ey 8. wouy Solb a’as' &S B S
@) 06x% 10°% Vm i sol P Fio%
() usmn‘ﬁvmlrmuaauma
@ 15 x W V! n mbdljﬂiﬁ;h
4) 15 x 10% Vm™? P Sel mﬂ:’-ﬁr&# )
88. The dimensional Fermula nl’ = pDH Ry — F&rmaablht-y of Erea space and
magnetic field intensity) iﬁ
;- Mo sy, DB DvEan iy - Dews (S8 Laiﬁ#gﬁﬂﬁ Hesutdy o8 §s
S8 ;
() MLr! @ ML
@ ML (4 ML T
86, A certain vector in the xy plane has an x companent of 4 m and. A Y component

¢f 10 m. It is then rotated in the xy plwe so that its x-component is doubled.
Then its new ¥ component is {nppmxﬂmmyi

H 20m @ 72m

13) 50O m 41 458 m

X BeSedtl ny Sad ol xowo¥sn 4 &,y woksh 10 5. NN r sofas
SHoty wdhguds 1 Sodwd® |wiime INE @D 578y woddn
l:a*waﬁm]

(X 20 & (2) 7.2
@) 508 (4) 45 5
Rough Work
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87. A police party is moving in a jeep at a constant speed v, They suw a thief at

a distance x on a motoreyele which is at rest. The moment the police saw the

thief, the thief started at constant accelaration o Which of the following relations

5 true if the police s able to catoh the thief 7 i
. L BRET v SHATERE® Shoseny Thoa x aroue® JHe LESTBy
Arets pI8D ady o &ofd et PF0dw Srld Sowd B
| @ S sesaE” Dk Sloe v Suid Seicosuwd Bob SotoeroE®

[ D8 BOEES 7
| (o EIT 25 v* < 2
@ o > 2w @ v =

88. A 1N pendulum bob is held at an angle 6 from the vertical by a 2 N horizontal
force F as shown in the figure. The tension in the string supporting the pendulurm
bob (in Newtons) is
wf 1N forg romis, 2 N Swdtie F of 18s S&nosl sosy oo
Deospsosnd 0 Fhose Joudey (H65:6° Srbde) wosuls. §usy
8HE° e 838 (Erpasd”)

: 'h"”;. "
I L3
I .
l 'y
i LS
1 %
i .51. -~
I
L) 5
| ] Wi
' ] 1 Wi
| : . 2 b
| " ; 3
M cos & T
[ M) 1 '
Hough Work
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The maximum tension a rope can withstand is 60 kg wt. The ratio of maximum
ecoleration with which two boys of masdes 20 kg and 30 kg can elimb up the
vope 4t the same time is :

L8 e SwSPSORS 0N Sdps 60 ke wi. 20 kg se0u: 30 kg [BSgorten
e G et ARG e Mo Pk, w0 688 sgtore L

o) 7 )T

!

3 4:8 4 3:2

A ball is let fall from a height Ay It makes u collisions with the earth, After
‘n'" eollisions it rebounds with a velocity 'u," and the ball rises tw a height #,,
then coefficient of restitution is given by -

by ady, &08 wf wod foddmds Jaladss. w8 ErRE n wlirerm
D0, W sPErese Saare dada v, 8% w4 T H8c8 Sieh = wold
hy S8 IRBEST (Hevpapdel femisy |

[ 1755
o oh o eo[]

1.

Acircular disc of radius "R'is remioved from a bigger sircular dise of radius ‘2R such
that the circumferences of the dises touch. The centre of mass of the new dise (s at
distance ‘wR' from the centre of the bigger disc, The value of ‘iz

R argieode e of Sye-se Bam 2R FprTEs fe L8 BE Ly ol
arn) SOdne -ﬁ'g&mﬂ: e S TRt e o - ﬁw;} ?ﬂlﬁm Bl E"g By o
gt Sodse arvdo R sand o I.‘f&:n‘i

o it

(H (2)

(4)

e | -

(3)

Eond [ ==

Rough Work
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A uniferm chain of length L is lying on the horizontal table. If the coefficient
of friction between the ehain and the table top is W', what is the maximum length
of the chain that can hang over the edge of the table without disturbing the
rist of the chain on the table 7

Leray do w8 0808 Awd s S8redd nyd Sgo. Fed ok
B gefdue ﬁ&,; ﬁaa’w TomYsn B wans, BEZ Bex SRADY e
f‘%ﬁa Srgioos. oe sk Dol Foedsels e ﬁ.&% SR oos?

_ 1 +7 uL
@ (1 + p} W Mew

! L _ pL
{4 (1—p) 41 (1— )

Two uniform circular dises having the same mass and the same thickness but
different radii are made from different materials. The dise with the smaller
rotational inertia is :

(1)  the one made from the more dense material

(21 the ane made from the less dense material

()  the dise with the larger angular velocity

@) the dige with the larger torque

o Lﬁ.ﬁ,igﬁﬂﬂ ¥ Sosdy Ko Sud D8I ey ﬂﬁf"rﬂq by %‘ma:bﬁ“'
SobedSd. =3 28 spddiee J0 G mds RSy fde By
(1)  o8s FoEs Ho Srgsed” Uotadia

) #¥ps Fodé do Sordded Hatesse

@ oxps Sdas Jose Ke OE
4] 988 vowrmbsy (wfp) fe 2y
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A thin hallow sphere of mass ‘'m" is completely filled with a liquid of mass m'.
When the sphete rolls with a veloeity @, kinetic energy af tho system is (neglect
friction) |
'm |\ ESpod Te oY feosl &e BlESm Bdpel be BedeE apdo
NoSuBEn, FoEse v Srsne® STasiy, w Syud dee ¥8 (wdnd SMidcde
B

A |
{l;} 2 i @ mn®
: 4 , 4
L { my” 14) 5 iy

Assertion (A) :  An astronaul inside & massive spuesship orbiting around the
garth will expericnce a finite but small gravitational force.
Reason  (R) : The centripetal torce necessary to keep the spaceship in orbit
around the sarth is provided by the gravitational force between
the earth and the spaveship.
(11 Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)  Roth (A) and (R) are true and (R) i8 not the eorrect explanation of (Al
(8 (A) i true but (R) is oot troo
4 tA) is not frue but (R) s troe
DRyEss (A) 1 RS dese HOESSSG sHIS Susdy FEET fe Sy
SBLE SEs MGhenitn vl SSERE FoNS
Foeds (R) 1 sosby Toc grelaiery Spd° Dodial oSHERS widod
ey, @R Sbew SeE0g a8 seby So GtenETE
Beo HEEEET ol
(1) (A) Sboss (R) Dose 26a0sd () & (R) S0&sd 350w
(2 (A) Sdoks (R) Sode Z0GER (A) 5 (R) H6G0s Qs F5H
@) (A @B, = (R) S00050 ma |
@ (A) geands &, = (R edqas

Rough Work "
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A simple harmonic oscillator consists of g particle of mass ‘m’ and an ideal spring
with spring constant ‘4. The particle oscillates with & time period “T". The spring
is eut into two equal parts. If one part oscillates with the same particle, the time
period will be -

E SO¥ Sodyd Slofe i ESyow fle 18 Sadud S0 sudoerss
B EOOE 68 soG otk SPACKIS © Sudy T Gtersgy s

Slogrer 306, & Bpofhd Tos Sdrd widiar Jhewd wf grtos

©d Suin8® Sfeoer I, §° Wﬁgﬁ eadn

@ mE w 5

Two blocks of masses 1 kg and 2 kﬂ are connected by a metal wire
going over a smooth pulley. The breaki gtraﬁaofmetalmgxlﬂﬂﬂm"ﬂ
What should be the minimum radiue of wire used if it should not break ?
l¢ = 10 ms 4y

1 kg dudoin 2 kg @agorte: Ho Dol asger &8 TG Brs® sessul,
B8 HErgs dhjdudior BDwpe. e Ery bdyas (BEouss

an
@ = 10 ms™)

1y 0.5 mm @
(3 1.5 mm

1 mm
(4 2 mm

Rough Work
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08, It two soap bubbles of different radii are connected by a tube, then :

(1) Air flows from bigger bubble to the smaller bubble till sizes become
equal

(2} . Air flows from bigger bubble to the smaller bubble till sizes are inter-

/ changed

Eﬁf Air flows from smaller bubble to bigger

(4 There is no flow of air

Bt 20 FgPeer Ao Todk ey I8 wEAL® L¥ FTedns® LS

D) a8 aﬁﬁw'ﬂn ainchy S6% o8 "315 wEE ol 1'-'-}-5& B

: Esr ok

(@) 8 Stdrsre SHSrE BigIsR 8 W esdd dod D
BIS S Lﬁaﬁ‘mamm

@) D O wmEd Dod BE wEnk (FSLodd

M b (Serards @edm

e

99. A large open tank has two holes in the wall. One iz a square hole of side ‘L’
i | at & depth % frem the top and the other is a circular hole of radius R at a
| depth 4y’ from the tep. When the tank is completely filled with water, the quantities
of water flowing out per second from the two holes are the same. Then valuel
of Riis :
Lf 800 ady BE & Gd% Goh Yogred SDUS. w8d Bera
II‘ Hiob ‘;.' St ‘L‘ ﬁ‘“-ﬁaﬁ e ﬁ&d@ﬂaﬂﬁ o gfea, Bosss Wﬁ&&m Eood)
. dy’ 65" ‘R’ﬂﬁg&ﬁ&iﬂ fie dyes el 6&1@{:;& "‘”"MJ &yl e ﬁﬁ@* "Jﬂmﬁu@
1 Goth Tore dod BERES \@&trod f8 55—&:@&; SErdss wond §

| | | &mg :
H i o
| S @ 2nL
i i o )
h (3) 'L\{E (4} o
|
Rough Work
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100. A non-copducting body floats in a liguid at 20°C with % of its volume immersed

| in the liquicl. When liquid temperature is inereased to 100°C, 7 of body's volume :
] 1% immersed in the liquid. Then the coefficient of real expansion of the liguid
{ iz (neglecting the expansion of container of the liquid) :

20°C STENE SY ey PHE" af ey 30 1Y, 0 SoSiarmE”

%ﬁﬁﬁ: SeABS6. B8 eRrES 100°C S DolsHd = Sub oD

._ DS HiSrmSvE® i e Bt frmsas,
. (Bosw ady F g ok stndese da)
' (1) 166 x 107 ¢! @ 186 x 10740
'-. @ 156 x 107 4 0156 » 10*c™ ‘ _

| 101.  An insulated eylindrical vessel filled with an insulated piston of negligible weight | :
and negligible thickness at the mid point of the vessel. The cylinder contains

a gas gt 0°C. When the gas is heated to 100°C, the piston moves through a

length of 5 em. Length of the cylindrical vessel in cm is :

6 Gdwesd Grdrwd ImEctom SONdedBl s mowh stndosdn

HoSBulie ad pofy Ssfe¥sy w dE Sgp Dofbdy &b % T et

- msmT

@ drads I°C 5§ SauHS 500 SR odhyS 100°0 5 FaInsHm
Swdedss 5 Dol DG SOOI Sndes W@ TaP (Dodiwe®) |
(11 1865 @ 213

@ 386 @ 646 I

Rough Work
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@y 9R°C, A7°C 41 90°C, 37°C
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A reversible ongine converts one-sixth of the heat supplied info work, When the
temperature.of the sink s reduced by 62°C, the efficiency of the mﬁ&iﬁdﬂb&e@l
The temperatures of the source and sink are !

adondy amSw@® U6 Josik w oy el noEse S0t e
ot ﬁwﬁﬁ 627C BRoUT B choEBy oKy S8 VoS, w5
Safoiy o aﬁ‘u{m Sgaden

(1) 99°C, 87°C (2) RO°C, 37°C

—T

103,

During an adiabatic provess, the prossure of a gas is pﬁﬁpar&fmﬂ‘bﬂ;ﬁmbn
of its temperature. The valus of c,u’;, for that gas is :
W n.sﬁ*%# Zifcbsol, ©F el bido 0w &W&z Send

awﬁ*&*ﬁnbdw aHhs e P 5 Dpa‘il,. Zimad ¢

12)

(

(3 14)

I_!"!;ﬂl en ogajf =X
b‘#ﬁlw' o -

= - —

104,

Two slabs A and B #:i’ :tiﬁerﬁnt materials but of the same thmhlm-zﬁm;jmnad
end to end to form a composite slab, The thermal mnduﬂiﬁﬁasofaaﬂﬂ are
'k and %, respectively. A steady temperature difference of Lﬂﬁhmﬂmm

across the composite slab, If &y = %. the temperature dum-m alab

A s

SRy Scrwel caedd wE Sesds fe Sod Sdge A BOGw B
Hodsd, &agé_ isagne sl U8 Hwselia. A, B nﬁﬁﬂ-ﬁ Q&’Wtﬁ
Sthaire ) EeBue hy & Hoduy SSE& Soysm 12°0 aﬁ*ﬁm e
Fafdaeded, k= -%— wosE A DSce aﬁc& SEF|Ha Dzt

1) 4%C (2) &C

@y &8¢ )  10°C

Rough Work
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© 105. The wavelengths of two sound notex in air are %m and %mw Each note

produces 9 beats per second separately with a third note of fixed frequency. The
velocity of sound in air in m/s is ¢

40
mET Tosh Sl Suoves -ﬁ' o1 S Botn ;t’% m E&bﬁﬂw&r@aﬁ STR T 0.

BB Hide, Bo PEESEe Go af SrES 0es® BEGN 9 Sgesre
SpRos b6 Gd Fhan (Aned®):

1)y 360 {af 320

3) 300 (4) 340

106, Two uniform sﬁtﬁa&ohnd-&ﬁmgﬁh and B, mide of steel, are vibrating under the
same tension. If the first overtone of A is equal to the second overtone #B. and
if the rardius of A is twice that of B, the ratio of the lengths of the strings is :

' =3 Spgae’ Ferifaud A Soui Bed Tod 5508 a8 sasadoneds

Bties Sobigyomyon A ergoinn, B argleonn8 Dotk Da A Gig), 3566 0850

-
S
3

B o8, Toad ol Sovid BEedSser o, & Tom Sne Brdde DaB:
(1 2:8 @ 1:2

@ 1:3 (4) 1:4
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107. The focal length of a Jens of dispersive power 0.45 which should be placed in

contact with & convex lens of focal length 54 em and dispersive power .21 to
make the schromatic combination from the two lensés, in em 48 &

0.4b Sgsee Fadpe e dusvdy, B4 o ts SREgesso ook 0,21 AFse
Fidge fe Hewrso Ku¥os® bie eyt w Dok Swsw bE
S508  Budrhons SndchEBEed, BaTNE acadehd gedigedtic Dwd
(Hedo.ed®) |
(1) 45 (2) 40

@ 180 @/ -180

Which of the following statements are frue in the eontext of a Compound
Microscope 7

iA) Bach lens produces a virtual and inverted image

(B] The objective hasa very short focal length

(C) The eyepiece is used as a simple magnifying glass

(D) The objective and eyepiece are convex and concaye lenses respactively
(1) (A) (B) and (D) @ () and (C)

(3 (A) (C) and (D) (4) (BY and (D}

Sosing ErEEnR Soduyls S \ed DITwe] b0 ‘ohorgen’?
(B) ey sufs, ScfemBS vy EBDewly SOSELE

(B) & ghell »8 o) @ggudde @owod

(C) of Sowdy »f G6V egse IDheT rwm FEel

M) S5, siferen Jadc Dol Trerrmed SagEod

), (A), {B) ZBen m (21 (B) S0 (C)

@ (A, (©) &8 (D) (4) (B) Ss0cts D)

Rough Work
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109. A ray of light refracts from miedium 1 into a thin layer of medium 2, crosses
the layer and isineident at the eritieal angle on the interfice between the medium
2 and 3 as shown in the figure. If the angle of incidence of ray is 8, the value
of @ is
wE 208 $0wo ArFso 1 Hod wedEe 2 Ged), Swel Teetns sluso
oY Sogd @D @8 oo 2 HBdk wied¥o 8 b Sy Ko wosy
fo¥op Sodd &'wo Tum " SEgo Doikod: wod dUwo 588 5mo 8
wen®, B Jend

39P
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In the Young's double slit experiment, the resultant intensity at & point on the
sereen 15 75% of the maximum intensity of the Hrrght fringe. ‘I’hﬁm the phase
difference between the two inlerfering rays at that peint is @

el sce SDE Eoened”, S03 wf Dol S8 moB s, BB

S8 Guly HOH SESEC T0% 48 8. wond JpETTaS: anmdl Tos

=ol Sdmdne &y dedss el Somd :‘ié !
o '

. Pl
= @

w =

4
. x
) -

Sl =

111

It a bar magnel of pole strength m and magnetic WM is cut equally 5
cular to its axis, then the

times parallel to its axis and again 3 times pe
pole strength and magnetic moment of each piece are respec ¥
hedidne m, sy wrdESs M fe SusdbBgoshy =8 egDl
HaroBganE B P MarFuce, sPpl v § BHE Ssmdunis §505 0.

Lol gesbidne

il bt bl

Seysien STHEME @

=
o

@ 3

wa 30" 4 (2)

=

() (4)

=)
m_jii
2=

BS
=
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112. Some physical quantities are given in the List | and the related units ave given
in the List II. Matel the corvect pairs in the lists -
List 1 | List 11
) Magnetic field intansity e}  A-m

(h)  Mugnetic flux i Wb m
le!  Magnetic pole strength ﬁj Wh
() Magnelic induetion ) Am!
(i) Am® l

STRG weY ovilieds erbee I Eﬁﬂ'ﬁ. T Benudeld (Beimre ¥
whes I & st ebewds SO somu SESES0E

CetoF il | = |
f@) swdmod §E S8 (@ Am
| B eaiimoE shiavse ) Whon
| (e} weEined gyasdsc (&)  Wh
i @) wsidgos Eog ) Am!
¢ (# Am®
The correct match is
I (B8 SO&EE e8): . _ ¥
- (LY e, (=00, tel-tgh (aDtd) 18)  Fad-th). (hh—, ()=l el v
i Gl b, (Bl-te), (D), (D40 &) iR, Bi-4g), (e)te), (@)=t i
113, A fully charged capacitor has a capacitanee 'C’, It i5 discharged through a small
: eoil of mesistance wire, embedded in a block of specific heat ‘s>and mass ‘m’ under !
| thermally isolated conditions. If the temperature of the block is raised by AT,
d the potential diferenpe V aeross the eapacitor initially is |
Seiretore sotdo S 3ebub Sl TR &aa S s aﬂ%&nﬁ*. .
SHEfEe 9 |S8pod  ‘'m He wB Sen6t Brafs DE%Ge =1t 'i_'lﬂﬁ;% 1
FYor aFio ILTRE Ay &2 na AT BEHS, kel T8 Sy @B
iy ﬁ"i:;&m&.if Bar, V Seod |
| 7 -z,mmm]’! y [z_m AT ]“-“* )
. (L} [ C ‘ﬁ} i c ,|;
‘2 ms ATY - {
(@) (Jﬁ—) )2 me ATO
1 €l A
Rough Work ' {
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114, Two identieal condensers M and N are connected in series with a battery. The
space between the plates of M is completely filled with & dielectric medium of
dielectric constant 8 and & copper plate of thickness % ig introdoced between
the plates of N. (d is the distance between the plates). Then potential differences
across M and N are, respectively, in the ratio
Bats B0y HErs 3Itnbes M mbcn N od e Heos” & Soewie B,
M gommf Sose sy Edeny 5%Y Louko 8 e 6748 Snies® apgoe
Rebeets. N Soasf sefe Sy % Somo e wmh SoES weed.
(d 686 Sufe Sy &nool wend, M, No Fds Sgp 2vepad dac
DEE, oo
W 1:4 2 4:1
o B8 4) 1:6

115, The electric current ¢ in the circuit shown is :
Bof Srbs Sochod® DEg@ierdto @ Ded

) BA @) 24
(3 3A (4) dA
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116, In the circuit shown below, the ammeter reading is zero. Then the value of the
resistance R is : |
Bog b deansd® edgef BAch ey wond N5 R Qe

12V 2V

1] = i

50 0 @ 100
200 Q Wy 400 @

@)
@
()

E

]

‘ 117. The thermo e.nif. of & hypothetical thermocouple varies with the temperature
@ of hot junction as E = af + b6” in volts, where the ratio a/b is 700°C. If the

[ eold junction is kept at 0°C, then the neutral temperature is :

|

|

|I

[

1400°C
no neutral temperature is possible for this thermocouple

LY EB¥OLE afdbufio o) ad Daguned weo, d34 Sod Ll
' 8.8° E=ab + b8" (S'eyed® ) drethgod. s¥L6 a%m#ﬁﬁ*& Sol dod

$i4 {11
(2)

+ i @)
4)

a0 EG 0°0 S8 wold gur T

700°C
1400°C
390°C
% afchmdd su¥ WlNE sodue T Tk
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118 Match the followmg and find the corréct pairs :
List 1 List 11
fa)  Fleming’s: left hand rule (g1 Direction of induced eurrent
(h) Right hand thumb rule (/  Magnitude and direction of magnetic
induction
e} Biot-Bavart law {gr Direction of foree due to magnetie
induetion
(d)  Fleming's right hand rule () Direction of magnetic lines due to curvent
oo fod wlered® SOE@Y sowom HOesed
Edal il | weilae 11
(@) HEch BT Jwogs @) (H88 dmpE S 6
() WAde Sfugde Duoyd (f) weobiped (Gfn s Sban &7
©  woied FSE LdsHe (@) emPnos Fwesy ST wond
@ el 5430 Jwesd (b Dpd Eodrode 951 eaidpol dau |
&%
) (et h)te), (e, (dr-th)  (2)  Cadlg), (bih), led4h), ld)-(e)
(3)  (Af (B)kh), (e-lg) (di-(e) (4) (ak{h), b)), (clle), (d}-f)
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A constant voltage of 26V is applied to & series LR ¢ircuit at ¢ = 0, by closing
a switeh. What is the potential dimmamﬂa&m&m and the inductor
at fime f = 0 7

LR @ $outod8 ¢ =0 55 Rl S-dbddbee epee 25V B 520
edsse Shovts. ¢ =0 oo asg DESge Bode &&; Sbok [Rede
v oy PRled 3w JBul domed?

@) 0N, 25V @2 125V, 125V

@ 10V, 15V W BVOV

120.

The sensitivily of & galvanometer is 60 d&ﬁmﬁm ‘;E'ihm»ﬂ.'shunh- s used,
its sensitivity becomes 10 divisions/Amp. If the galvanometer is of resistance
20 .9, the value of shunt used is ;

w8 roncael Gl S e p8 60 Serrevss el w8 Sof BE°FoN
FREHE, S SegerSrps 10 Sprrerachal sgBoh, el e ST
200 & B, EGEsieds Zof REfSe Desy :

1 4 _@_-/Eﬂ

(31 20Q @ 20




